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QUESTION 1

What are the three foundational elements required for the new operational paradigm? (Choose three.)
A. centralization

B. assurance

C. application QoS

D. multiple technologies at multiple OSI layers

E. policy-based automated provisioning of network

F. fabric

Correct Answer: BEF

QUESTION 2

Which Cisco vEdge router offers 20 Gb of encrypted throughput?
A. Cisco vEdge 5000

B. Cisco vEdge 1000

C. Cisco vEdge 2000

D. Cisco vEdge 100

Correct Answer: A

QUESTION 3

Which two activities should occur during an SE\\'s discovery process? (Choose two.)

A. Establishing credibility with the customer

B. Working with the customer to develop a reference architecture

C. Referencing the PPDIOO model to effectively facilitate the discussion

D. Gathering information about the current state of the customer\\'s network environment
E. Mapping Cisco innovation to customer\\'s needs

Correct Answer: AD

QUESTION 4
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Which node enables Cisco ISE to share contextual information on a device with Cisco Stealthwatch?
A. Monitoring and Troubleshooting Node

B. pXGrid Controller

C. Policy Administration Node

D. Inline Posture Node

Correct Answer: B

QUESTION 5

What should you do if you are looking at a strategic win with a customer and the customer wants to examine Cisco ISE
for longer than a few weeks?

A. Give them some of our flash files that can be played on any browser.
B. Set them up with an account on a Cisco UCS server that hosts ISE.
C. Set them up with a dCloud account.

D. Give them our ISE YouTube videos.

E. Provide them with a downloadable POV lit.

F. Point them to our dCloud demo library.

Correct Answer: C

QUESTION 6

Which two statements regarding Cisco SD-WAN vEdge routers can mitigate DoS attacks against the infrastructure?
(Choose two.)

A. Open Certificate Authority and automated enrollment feature.
B. By default, all incoming traffic is denied at the transport (WAN) side interfaces.

C. Only authorized controllers are allowed to communicate back to the vEdge router after the vEdge router establishes
connections with the controllers.

D. In case of direct Internet access, the only traffic allowed back is the traffic matching the state table entries on the
vEdge router.

E. The vEdge routers run on hardened Linux operating systems.

Correct Answer: CE

QUESTION 7
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What are three ways in which Cisco ISE learns information about devices? (Choose three.)
A. user authentication to the ISE

B. SMTP agents

C. RPC mechanism via HTTPS

D. traffic generated by the device

E. network servers the device has accessed

F. RADIUS attributes

Correct Answer: DEF

QUESTION 8
Which two statements are true regarding Cisco ISE? (Choose two.)
A. The major business outcomes of ISE are enhanced user experience and secure VLAN segmentation.

B. ISE plays a critical role in SD-Access.

C. Without integration with any other product, ISE can track the actual physical location of a wireless endpoint as it

moves.
D. ISE can provide data about when a specific device connected to the network.
E. An ISE deployment requires only a Cisco ISE network access control appliance.

Correct Answer: BD

QUESTION 9

Which two options help you sell Cisco ISE? (Choose two.)

A. Downplaying the value of pxGrid as compared to RESTful APIs
B. Explaining ISE support for 3rd party network devices

C. Showcasing the entire ISE feature set

D. Referring to TrustSec as being only supported on Cisco networks
E. Discussing the importance of custom profiling

Correct Answer: BC

QUESTION 10
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Which two options are primary functions of Cisco ISE? (Choose two.)

A. providing VPN access for any type of device

B. providing information about every device that touches the network

C. enabling WAN deployment over any type of connection

D. automatically enabling, disabling, or reducing allocated power to certain devices
E. enforcing endpoint compliance with network security policies

F. allocating resources

Correct Answer: BE
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